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Time : 3 Hours

Instructions :
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Booklet Code

D

Marks : 200/100

(i) One mark will be awarded for every correct answer for post code 11, 51 & 52 and half mark
for post code 12, 13 & 14. There are no negative marks.
J3S @6 aTw FF §'8 11, 51 005 52 ok w¥ Sy, &R 56 12, 13 Hoosn 14
B8 ef S8y, Séronoddo 26ié0d. Jdsed Herd) Srdy o 89.
(ii) Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen the corresponding digit 1, 2, 3, 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

B aS B8 BHH aSWAS TES* KOS ISPTHINE IYFD T Srdod

©08 1, 2,3, 4 36Hm a)s OMR 38r58 Hi@Sos* ©HE Sow0800S Jopgho HEEH
a/er8 &S ool DY) GIRrAD JoHSB.

1. Match the following

(A)
(B)
©)
D)

List- 1

Buds from Nodes

Buds from margins of leaves
Gemmae

Bulb

2830

(A)
2
©)
(D)

e -]

Seno IS¢ Inoffew
A GFodYy Infen
adoy '
SEART)

The correct answer is
SOOI JbrgrdSn

(M
(2)
&
(€9

A-V,B-HILC-I,D-1I
A-ILB-NILC-L,D-IV
A-ILB-I,C-V,D-II
A-TILB-IV,C-1,D-V

List-II
(I) Liverworts
(II) Grass species
(If) Ginger
(IV) Bryophyllum
(V) Onion
e - 11
() 03858e

() AGerdeo

3-D

(III) eeo
V) @rdgo
V) &8
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Study the following table:
S.No Part of eye ' Components ‘ Function .
A ‘Rods Todopsin - Dim light vision
B Cones Rhodopsin l | Colour vision
C | Ins -Pigmented muscles | Regulates amount of light
D Yellow spot Cones Sharp Central Vision
8ob HEE Jveood
3.80. | 5295 e.rﬁo. doPoBaren 28
A S0l Eeoren LRrET YN , BoDE Jendd
B Fo¥> Serren SRS ' | Sgo %80
C L o1 Sgsrod’ Sr88 fodoren | 5708 J0Sre Jcho@e
D | 5509 g §o8 Seren S5 Sy

Among the above, the correct combinations are

D T8S* Ko 2890 &&) woTew
(1) A,B (@) AB,C (3) C.D

" (4 A,B,C,D

Human blood contains the following types of white blood cells

a  Monocytes : b.  Neutrophils

c. Lymphocytes ‘ . d.  Eosinophils
~e.  Basophils

SrS3HN. B50e* 18ob ssve 8 U Sered Goron :

a IS i b. SrEthSen

c. Qodply : d adS*HSen

e. BIDSen

Arrange them in ascending order as per their number per cu.mm of blood
8E0s* HB 28 DS T HopgH v WETE S0 WRE)s

(1) c-a-d-e-b @y d-a-e-b-c
(3) e-d-a-c-b ' (4) a-c-b-d-e¢

4-D




G-2 Booklet Code
Study the following table:
SNo |. Disease Causative organism Affected part(s)
A Hepatitis - B HPV Liver
B . AIDS HV Lymphocytes
C Polio- Enterovirus Motor neurons
D Pneumonia Diplococcus pneumoniae Stomach

8§08 ;’)Qé H08O0B0d

S.80. BN Tgo S8 4D ©erdgSoddy rKo(en)
A THE8S - B HPV sBaho

B AIDS HIV Qo

(e OB JoB6'3ES ol T8 S

D | Sg3rdcs» BT drgardch | dqdowo

Identify the incorrect matches
D VoTOS® JOM 2EI6I0EID _

(1) AD (2) 1‘B, C,D (3) B,C &~ Bonly

[dentify the incorrectly matched pair

(1) Testosterone - Leydig cells (2)

(3) Relaxin - Placenta

RO 2830T0Ed TB KHBoSos
(1) BYFRES - H4F Seovew

(3)- 6erd)S - 2orasY

A child with *O’ group blood can not be born when one of the parents has the following

blood group

Progesterone - Corpus luteum
(4)  Oxytocin - Pancreas

. (2) @ragos - S endoho
(4) s8&5*S - §do

SQBoOS* D L DT & (Bod 2EY %) S 580 £0A God T8 ‘O’ 8¢ 380 Ee DY
0 3> & § Oy 98 : _

zs&)éoe_c_SJ__
(1) A

(2) B

(3) AB

5-D

@ o




Identify the incorrect pair

(1) Respiratory disorder - Emphysema

G2

(2) Cardiac disorder - Parkinson’s disease
(3) Muscular disorder - Myasthenia gravis
(4) Nervous disorder - Alzheimer’s disease

808 ari3s* sy 28BS B Kgowod

(L o350 Sowod Hfyd - Jodddr

(2) SysaH dowos HfE - FSES Tgd
(3) odd Howod Lfd - Hocsridcir BV

(4) & Sowos HXE - ws gd

Match the following
List-1
(A) Catalytic convertors
(B) Scrubbers
(C) Electrostatic precipitators
(D) Incinerators

808 woTen 2838S08 .
ade - |

(A) 3LDSE 8355

B) SR

(©) dogBE HpLBLrS

(D) ™86 oo en

The correct-answer is
HOGDY BIPGES0
(1) A-IB-IV,C-III,D-I
(3) A-ILB-IV,C-1,D-V

List-1I
(I) Particulate matter
(II) Carbon monoxide
(II1) Hospital wastes
(IV) Sulphur dioxide
(V) Pesticides

ade -1l
() Bedrd dorgen
() s Iragond
() s3y@ Sggen
(IV) 3enS dosrgionsd
V) B Esen

.(2) A-ILB-1V,C-I,D-1II
(4) A-1,B-IV,C-V,D-III

6-D
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9.  Widal test confirms

(1) Typhoid ' (2) Leprosy

(3) Tuberculosis (4) Plague

SaS H8E BIV dZBH00 e

(Y Bons O sy -
(3) go% : 4 3 |

10. Match the following:

List- I List - II
(A) Morphine - (I) Datura stramonium
(B) Quinine (I) Cannabis sativa
(C) Scopolamine (I) Papaver somniferum

(D) Manjuana (IV) Tridax procumbans
: ’ (V) Cinchona officinalis
808 U 2858%508:

de - | ' =de - 11
(A) 508§ () &erd Pardabo
(B) &35V (D) &8s B>
(€) MFoS _ () S&>I6 ) DOH
D) SrH | V) Ba§ @0y
(V) RoSo @ddo5
The correct answer is
DO HE;TSID ‘ ,
(1) A-NILB-V,C-II,D-I (2 A-1ILB-V,C-1,D-1l
(3) A-V,B-ILC-L,D-ID (4) A-V,B-1V,C-1,D-1I»

11.  Number of bones in upper arm, fore arm, wrist, palm and fingers of man respectively
SrSPHD BogBomng, SnoBowg, Hwwogo, esBow, B8 IFSD Idwse Sopg SEvm
0y 1,2,5,8, 14 ' T @ 21,5814
(3) 1,2,8,5,14 | T (4) 8,2,1,14,5,

7-D



12.

13.

14.

15.

16.

17.

G2 " Booklet Code D

In astronomy ‘parsec’ is the unit of

(1) Distance (2) Time (.3)' Velocity (4) Frequency
pif¢rgos’ ‘PERE A8 @Wirwo
(1) &»~do (2) soo B 30 ' (4) 2>3:9sg0

The radius of the orbit of geostationary satellite is nearly
SrPBE BIET0 B0, EFgTgrgo S '

(1) 36000 km _(})/ 6400 km (3) 42000 km (4) 21000 km
The circuit used in radio receiver is R

(1) . Pure resistive circuit : (2) LC-tank circuit

(3) Pure inductive circuit (4) Pure capacitive circuit

38R BLIEES' & Socird) SIRFAHEH

(1) ®4 NG Socho, (2) LC-rgo§ Sedabo

(3) ®g (b8 Sodbo (4) g E90 Sooo

The velocity-of sound in air does not depend on

(1) Pressure (2) Humidity _  (3) Velocity ofair (4) Temperature
oSt §R So BoBd TR P BEEILEE B

(1) SHa&s0 (2) ve‘ga <. (3) md 3o (4) eJEs

Assertion (A) : The rain coats made up of polyvinyl chloride do not get wet with water.

Reason (R)  : The angle of contact between polyvinyl chloride and water is greater
than 90°. .

(1) Both (A) and (R) are true and (R) is the correct reason of (A)

(2) Both (A) and (R) are true but (R) is not the correct reason of (A)

(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

P8>ES (A) : OIS §36S" Sl B2 Bows S'Sen IBS S859.

s6mo (R) : 3035 §08, Mo D&y HGF@o 90° Lo8 5,3

Y (A) $:805 (R) o0 Bodr duo 50008 (A) & (R) 8 $0gHS 500

(2) (A) %8050 (R) e Bodr dzo 57 (A) § (R) S80S s°8mo 57

(3) (A) dz0 2 (R) &3

(4) (A) 83 s (R) d=o

The effective number of atoms present in a Bod& centered cubic unit cell is

ef ©osToB8 NISE oIS WSS (eI dESrengeo dopg

(1 1 2r 4 3) 2 (4) 3
N 8-D



18.

19.

20.

G-2 | - Booklet Code D

Lenz law is the consequence of

(1) Law of conservation of charge

(2) Law of conservation of mass

(3) Law of conservation of momentum
(4) Law of conservation of energy
Bo& JoHdo B BEgSFSo

(1) w3¥ d8g8g Voo

(2) BSgore d&gdg oS0

Q) BSg38 dégdy Ao

(4) ¥8 8gsg oo

In frequency modulation, frequency of the carrier wave is changed in accordance with
(1) Instantancous frequency of the signal

(2) Instantaneous phase of the signal

(3) Instantaneous amplitude of the signal

(4) Instantaneous velocity of the signal

D5y SrdogBASS’, g sbof FS:PSgind A8 vdhemom Srddd
(1) %0ds S6of Skm DSRS0
(2) %0d8 S0k EE ¥

By %088 SGoK S5 SodI D08
(4) %088 8o ¥ S0

The nuclear force is

(1) always repulsive force
(2) always attractive force
(3) aloﬁg range force |

(4) aweakest force

Bo 88 poo ¥IB

(1) Qods IECw wwo
@)' JoRdr sEdn 200
(3) ©68 agy o wwo

(4) ©8508 wOTIDS wOO,

9-D



21.

22.

G-2 Booklet Code

In photoelectric effect, the magnitude of stopping potential increases with
(1) The increase of intensity of incident radiation
(2) Thedecrease of intensity of incident radiation .

(3) Thedecrease of frequency of incident radiation

(4) ~The increase of frequéncy of incident radiation
508 DB HOS0S* BIE'S FBIHS HOSrwo BAS DD

(1) J83 J88en BSS DKL S0
(2) 988 DB B$E SKHL S0

3) D88 86 FIQYJgo SHL Sod
(4) 288 D88 S:YSgo DHDL SO

Match the following:
List-1
(Substance)

(A) HCI

(B) H,S04

(C) ZnSO4.7H,0O

(D) FeS0O4.7H,O

808 TR 2EHKHWB0
e -
(;’)wgo)

(A) HCl

(B) H,;SO4

(C) ZnSO47H,0

(D) FeS04.7H,0

The correct answer is
SO JSrerdin
W A-ILB-IILC-],D-V

(3) A-ULB-I,C-V,D-IV

List- I
(Common name)
(I) White Vitriol
(I) Green Vitriol
(III) Muriatic acid
(IV) Blue Vitriol
(V) Oil of Vitriol

do -1l
(FrsorSgasoo)
O 3528808
) @S ABRrS
() S05005rSE w0
IV) ar IBI>E
(V) sond a9 JBI>rS -

(2) A-II,B-V,C-LD-II
(4) A-1,B-IIL,C-IV,D-V
10-D




23.

24,

25.

26.

27.

28.

G-2 Booklet Code D

Identify the pair of elements with anomalous electronic configuration
LoD JOFS ITGHENDH 08 &) Srose addH HYowhin
(1) Na,Mg @&y Sc,Ti
(3) Cr,Cu . . (4) Ni,Co

Arrange the elements C, N, O and F in the increasinig order of their first ionisation energies.
G, N, O, F Sororosh 8 B85 ©chdEsn e DOR 3006 esody)Sw.

(1) C,ONF - @y C,0,EN '

(3) CNFO | (4) C,F,O,N

The number of © - (sigma) and & - (Pi) bonds present in C(CN),4 are respectively
C2(CN)g 6*0 ¢ — (drm) Sodosw 1t — () wogre Sopgen S&dm

(1 4,4 2) 9,9

3) 5,5 4 7,7

The crushed egg shells when made to react with aqueous solution of substance X, produces
a gas which turns lime water milky. The substance X is

SADS B4 My dins' X oF Sorg 2oEdno S8 SoBIYE IS a0
2HY BLH 0SB Srgse. dogo X vHsd

(1) NaCl ~ (2) Ca(OH),
3) CaCO; (4) "HCI

- Which among the following is used in the galvanisation of iron to prevent from rusting?

B0 HY) SL%oT Godirds, §od TES* BID T MeNESTIE SBAIIY.
(1) Sn (2) Cr
3 Zn (4) Mn

Identify the method, used to get semiconductors-of high purity

(1) Mond’s method (2) Zone refining

(3) VanArkel method (4) Poling method
/A WETTTOH FodLrIE SBArNOT BEEI HYoHID
(1) S»of) 548 (2) Hode ¢S
(33 &S 5gs (4) &0of 2g8

11-D



* G-2 - Booklet Code

D

29. Athigh temperature, nit.;ogén reacts with oxygen and forms a colourless gas X, which on
further oxidation forms a reddish brown gas Y. Y dissolves in water and forms Z. The formula

30.

31.

of anhydride of Z is

08 SAES 5E EBS, BHASE $5ToB X 6 SohB TeingS Ay, 28
©§)8000 Bobd A Y ok Y & ausyd. Y ASS* §8h Z & Q. Z Dok,

uST@s Foe
1) N0 @2 No
(3) NO4 (4) NO

Bakelite is a thermosetting polymer. It involves the use of the monomers
(1) Melamine, formaldehyde

(2) Urea, formaldehyde

(3) Formaldehyde, Phenol

(4) Ethylene glycol, Phthalic acid

BEBE 6088 w8 GO RPN FODE. 6 Soirbs T8 WrSHY
(1) oS, FoQwré '

(2) oSrgdsr, oY TE

(3) FoE@ws, 28

(4) 2888 23'6. 9§ edo

Idenfify the neutral oxides of nitrogen.

S0 DS LPSDH KHJosBw.

(1) NO, NO,

2) N,05, N,O,
(3) N0, N0
(#) NO,N,0

12-D
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'32.  Choose the correct statements about Mitosis
(A) Daughter cells produced are genetically identical to that of parent cell
(B) Itpromotes continuous growth throughout the life of plants
(C) ‘Ittakes place in gametes _
(D) 4 daughter cells are formed at the end
Bod TVS* S DS 58y POGS TRgos HGoYSw
(A) =dgdsom 89 Eer)) O ¢ e feren D6Jée‘oo.>
(B) 83808 awgos dde70do DG 2HHEH
(C) 28 Hzsoros 266
(D) 256% 4 bosaren Qoo

(1) AB (2> CD - (3) B " (4 D
33. Match the following '
‘ List- 1 ' List - IT
(A) Glucose . () " Dark reaction
(B) Ribulose biphosphate (II) Transpiration
- (C) Grasses , ' (IIT) Plasmolysis
(D) Preservation of fishes (IV) Glycolysis
(V) Guttation '
Bod T8 2838%0B50
=da - | . ade -1
(A) Ars's (D 208 g
| (B) dege's Bahys (D) erandso
(©) 5§ 3wgen () 2005
(D) Bsen dens Bosdo V) Bsobs
: (V) dodorSo
The correct answer is
BOGS BEGSBD :
(1) A-LB-ILC-V,D-II (2 A-L,B-II,C-V,D-{V
(3) A-1V,B-L,C-I,D-II} (4) A-IV,B-L,C-V,D-III

13-D




34.

35

36.

37

- G=2 | Booklet Code | )

Choose correct pair from the following

(1) Growing plants in a specified nutrient solution - Hydroponics

(2) Conversion of ammonia into molecular N, fixation - Nitrogen fixation
(3) Biological process without utilization of energy - Active process

(4) The place on the substrate for biochemical reaction - Active site

o T3 Sod T3S 288 INFod

(Jy g8 Srese Edmost I ed ol HEB - TE'FIE)

@ sBrPosr wmdrd SGRAIT Erdly - BGad T

(3) #§ dadrfo Bor u0R 5B - HBr SFS:

(4) w6} sTgo DG ESEHHS $&5 wOA BAdo - asrde Fo

The following chemical is formed during biochemical reactions of both aerobic and
anaerobic respiration

(1) Citric acid ~ (2) Oxalo acetic acid

(3) Pyruvicacid ‘ - (4) Succinicacid

Toko P HOH T EIE TS Gobos” a0l &5 SRS Sgedt & b
dorgo koS

(1) S8 w0 . ' ) wsyst ohBE s
(3) 2E&rIE w0 _ (4) H8OE ex0

Free living microorganisms that feed primarily on dead organisms are.
(1) Parasites - (2) Chemosaprophytes
(3) Chemoheterotrophs (4) Saprophytes

Sy dge oD @EDkor Fam awPFI BT SrgEHed
(1) do§) 290 () SFaid FésFlhe
(3) SoHS HéFhe e : (4) Frassishoe

Restriction endonucleases differ from other nucleases by possessing these unique characters
(1) Cutsatany portion within the DNA ' -

(2) Cutsat the ends of DNA _

(3) Cuts at different locations with specific recognition sequences '

(4) Cutboth inside and ends of DNA

A B@QS Do@&rﬁdﬁg&z} & HBg8 vfwo S0l 188 Srfchare Sod JBHHJo»

(1) DNA &% D3 3¢ 3809e0 udidb

(2) DNAFSodH Dbowd '

(3) Deg B0 EHESTE IS FTOS' FooWH
(4) DNA &*Se Sdosw Fde 3¢ oo

14-D



38.

39.

G=2 Booklet Code D

In the given plant names

Mangifera indica

Solanum tuberosum

Nicotiana tabaccum

The words indica, Soianum, tabaccum are referred respectively as

(1) Species, Genus, Species (2) Species, Species, Species,
(3) Genus, Species, Genus | (4) Species, Species, Genus
o8 ad@ads JvfHho FIrods

,irc.azba' aods™

SN dargas G

VEBor> LearsD o' Fods, DferSa, d:ars’?% Soren SOOI

(1) =8, B=d, =8 (2) =8, =8, =d

3 ©=é, w8, Pud : (4) =8, =8, D=8

Read the following statements regarding Ecological services to maintain the atmosphere
of earth

A) Flood control by Microbes

B) Nutrient recycling through decomposition

C) Provide aesthetic and cultural values

D) New Soil formation by transporting fertile matter from one region to another
Among the above the correct statements are

w56 H55Y owod Do HBoA §od worwy $03Dowod

A) "ws&é@oa Jdde oo

B) 2Q)%88 Bcke oy Fise PSSocrsbn
C) Fold8 Hockn P58 Foddgo woDrodowd

D) >8508DS HPY 285 Hod RoESHE Srer Bahdo T FF H)BEH
RIS '

» goT oS J0SD
(1) AB 2), B;C ; @ A,D (4) AC

- 15-D
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40.. Rauwolfiavomitoria growing in Himalayan ranges possess high concentration of feserpine,

41.

42,

refers to

(1) a-diversity

(2) Genetic diversity

(3) Species diversity

(4) Ecological diversity

.r;irooﬁre’i‘ O8 oPY)alr 2Ol @ag mESst 6«:0.)5«‘&) §00. dodod &I
(1) B SDGgBR0

(2) =g IDEgS0

(3) =8 3Dgdw

(4 B380 D020 IDEFIN,

In Haryana the Pro Reservation movement was lead by

(1) "Jats ' (2) Patels
(3) Kulkamnis (4) Benarjis
Sorgord® dadias §d0 wdgioo BIGZS T
| (~D/ a2 dSen C(2) S8Sen
(3) Hoeosgen (4) B3gew

Which are true regarding 2nd International Yoga Day celebrations in India?

(a) NarendraModi Jaunched at Amritsar

(b) ‘Connect the Youth’ is the theme

(c) 1632 pregnant women doing yoga together in Rajkot

(d) - Celebrated on 21, July 2016

ESBIos* 2OAS 25 wodg8ch R BSEDS Bodors Hopofod HBGRID I?
(2) SBoBIrd wRYSHES" (FboPorrdd

(b) ‘osndEs widordod o386 89 sdodo

(c) 1632 %508 AOymoed ob TEELS' Srm BTG

(d) 63 21, 278 201635 adPsomsd _

(1) a,b,c+ (2) b,c,d

(3y ber - - : (4y a,b,c,d
| 16-D



43,

44.

45.

. 46.

India’s position in Corruption Perception Index - 2015
§33S E5PRS 203§)-2015 &* Rodasr s

(1 73 (2) 74 3) 75

Thar Express runs bétwecn

(1) Delhi-Islamabad ' (2) Lahore-Jaipur
(3) Mumbai-Karachi (4) Jodhpur-Karachi
T8 DD §od SKore gy S0

(1) 89-axsrers 2y o5BYs
(3) Swouoxn-§c°d (4) &§ys-sod

Malaria free zone that declared by UNO is

(1) Europe ) Asia

(3) North America (4) Australia
S08805r B podor B a§86'as JWB HEBoNH

(1) Srs's : (2) eSHosr

(3) 88 vNss _ (4) 9(?3005:-
Match the following

(A) LalaLajapathi Rai Birth Anniversary (I) 16" September
(B) World Forestry Day (In "24th April
(C) Parichayat Raj Day (1I1) 21% March
(D) World Ozone Day (IV) 28" January
$o8 T8I aSJES»

(A) ooroadsodd 25850 1) 16, wRoad
(B) o s&das‘d)so a\ ) 24, DEoHS
(C) Somoandos as'ES0 N () 21, S8y
(D) @dois &85 8S'GSo (IV)_ 28, 25508

The correct answer is
RODS JBSrerSS0

(1) A-ILB-IV,.C-TII,D-I (23 A-1V,B-1I,C-1I,D-1
(3) A-IV,B-IILC-L,D-It (4) A-NILB-IV,.C-ILD-I
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47.

48.

49.

50.

f ‘ G-2 Booklet Code [ ) |

In September 2016, the following country conducted under-ground Nuclear test in the
vicinity of Punggye-ri

(1) SouthKorea (2) North Korea

(3) Pakistan (4) Philippines

2016 D RoES* Yolich-8 BBITOS* Frid) v HOE JEGErodS BFo

(1) &8eo SO (2) &83 5oy

(3) >&xS @) 0myG

The secret papers of submarine INS Scorpene were first revealed by the following news
paper

(1) London Times (2) Times of India

(3) TheAustralian e " (4) TheAmerican

INS &'&,0’)5 zorodTrine §Ilg JEred Indhmr aurgdo BNS Toe HBE
(1) oods 8 9,) B85 69 08>

(3) & &RdHI (4) & ©BES

The first woman officer in Border Security Force in India

(1) Thanusri Parikh | (2) Satyavathi

(3) Shalija Thanu 4 (4) Stuti Naren Kakkar

T E8BFoS® JoIrE FPe S¥os' &9 e vhs 0

(1) 8d3 >0f . (2) Ssg58

(3) ROz oo (4) 2d33S 88,6

Choose the Indian origin who is appointed as the UNO Human Rights Advisor recently
(1) RadhaKumar (2) Jai Sankar Menon

(3) SuryaDeva (4) Swathi Dandekar -

adse oo SrSSIrEy e doTToHm JchNoSRdS FE8ch $odd I8

(1) oo %i»6 . (2) BHesS WIS

(3) “rogds ' (4) 0 BodEs
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52.

53,

(1) The world’s first bird sanctuary

(2) Theworld’s first Ridley turtle sanctuary

(3) The world’s first lions sanctuary

G-2

‘Mukundpur in Madhya Pradesh is recently in news as, it is

(4) The world’s first white tiger safari ‘
HGgOaTS' Ko Sn%osPs adse T¢SE oITIE s6wo 28

(1) @dosos® K SPe Hodge éo@o

(2) ©doSos® InEs 88 6B dosim Soo
(3) Edotos® JnKE voFte HodEm Boo
(3) ©doKods' InEY BuYwe Jod¥m Soo

The present Chairman of Law Commission is

(1) Unit Patel
(2) Jeevan Reddy
(3) Balbeer Singh
(4) ABP Pandey

©8 o ENAS PGS
(1) &8s 385

(2) #3538
(})/mfb&bpﬁ

(4) ABP 203

The first woman President of Taiwan is
(1) Dilma Rousef

(2) Tsai-Ing-Wen

(3) Angela Merkel

(4) AungSan SuuKyi

8S 89 Sotrer VEgiTen

(1) ey TVD ‘

2r ey%-20h-35

(3) AcBer YYS

(4) woR>S Hrd

19-D

Booklet Code




54.

56.

G-2 , Booklet Code | [)

Choose the wrong statement about the terrorist attack on 18th September 2016 on the
Indian Army Centre at Uri

(a) The slain soldiers were from the Bihar and Dongra Regiments
(b) Theattacked Army Battallion centre is in Baramulla district
(¢) The terrorists belongs to ISIS group

(d) At the time of attack Director General of Milatary Operations (DGMO) was
Lt. Gen. Ranbir Singh

18 DRowd 20165 oBrdd’y wrds R gédo ® 3008 o>d 88 Jowcdod
RO EgSH JobhE Fokosw

(a) WodwaS PIKe HFE LB Gloyr BEDoSos BodSads”

(b) 88 K33 1K BLrOAHS erbSner 2ens® &%

(c) oo ob% (ISIS) KrHssh BodsadX

() 6 2083 SH00S" BEEE 256E 85 Deowd B5d4S (DGMO) m B30l
2388 Seabdb Vok sk

(1) b @) d (3) a @ ¢

The Minister for Raﬂways Suresh Prabhu inaugurated India’s First green train corridor in
between

(1) Delhi-Agra (2). Mumbai-Thane
(3) Hyderabad- Warangal (4) Rameswaram-Manmadhurai

285B00@ BBR BEd FBoPoS FEEBIY B BS_BS 50m8 ISk Sicw By
st ol o

(1) 88w (2) Sx0B-m3d
(3) Eersd-Sdoid (4) oH¥Go-HIHE3
s
Terrorists attacked the following Air Force station in India during January, 20 16
(1) Jalandhar (2) Pathankot |
(3) Patiala (4) Srinagar
& 808 68 I Y360 D SET DL 2338, 2016 &* 8 IS
(1) ze088 (})r S8
(3) 8y (4) §386
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57. Regarding PSLV-C34 choose the wrong statement

58.

(a)

(b)
©

(d)

For the first time in the history of Indian Space Research ODrganisation 20 satellites
are sent by using one rocket

It consists 16 foreign satellites

India stands in 4% position in sending highest number of satellites into space by using
one rocket

Swayam and Satyabhamasat satellites are prcpa{red by students

& Bod TVS' HIG.IED - B 34 BRATIE HowoBod dzo T woFo

(a)

(b)
()

(d)

(),

(3)

88 ©odBE S0FET Jog WHES' FTOFOVM w8 TBE HIArAD 20 ediSen
wArfotdo 20h0d

B5* 16 8% eHSten Ganow

2% 085 oo w85 .oozpsé‘ DI ORH ©oddEods Hobd drest rEs
435 PSoS* J0N0B

BAS* Beohd Hobasn JEgS T SJET 0K doghen Srdrobomdd
a,b&c : (2) b&e
a&d ' (4)-c&d

The main theme of IFR (International Fleet Review) - 2016 is

(1)
(2)
(3)
(4)

Victory over sea
Tourism through sea
Glory through sea
United through sea

©oST 8% akog To $Dog - 2016 (IFR-2016) 08, ©&s &Féso (65)
(1) :o;’m@o Daaho ' :

(2)

SdnBo mo Sorgbgo

(3) Jdwo oo IFSo
(4" d8ndo oo wEgd
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59. Match the following :
(A) Brexit (I) Raghu Ram Rajan’s exit from RBI

(B) Rexit (I1)  Exit of Britain from E.U.

(C) Sankat Mochan (IIT) Leonal Messi’s exit from Argentina Foot ball team
(D) Messi Exit (IV) Return of Indians from Southern Sudan

$08 TI SIS :

(A) @8¢5 (Brexit) & (I) - RBI S008 $300d oas ), JE,S0e0

(B) B8 (Rexit) (I) DS ahrdoHhS Sobd PLS AY,Sow
(C) Ho88 IrssS (1) egoBa Y&urS 85 08 dRIS Dok Y, Sow

(D) %) 2§65 (Messi Exit) (IV) S8 3o %08 268050 35E8 oS0
The correct answer is

BOGS SIS0

() A-ILB-IL,C-II,D-IV (2) A-NILB-L,C-IV,D-II™»

() A-ILB-LC:IV,D-1I (4) A-ILB-1V,C-1,D-III
60. “One world no hunger” is a special initiative of the following country

(1) Germany , (2) Britain

(3) France ~ (4) China

‘23 Phodo - wEd Kirdo” & Bod ddo M), WBgE Ldogsw
(1) =260 ' 2) BLs

(3) &y (4) 3~

61. Anakonda-16is .
(1) AHollywood Movie
(2) ALarge snake recently snatched in Amazon forest
(3) AlJoint military exercise of NATO members and partners in 2016
" (4) US.-Indiaj Jjoint military exercise in 2016
©5508-16 ©38
(1) 28 S0HE %> - -
2) adse eBmS wsYos* Hignds B v
(3} NATO Jzbgen SoBosn grifdgson 2016 &* JdgErods G508 PIE drgddn
(4) ES-oDose 20168° JGErodS SBd PIE dgHB0
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62. Which of the following is a fact regarding Kudankulam Nuclear reactor?
(a) Itis tﬁe biggest Nuc[car reactor in our country
(b) Itisbuilt in coordination with Russia
(c) It’s full poweris 1000 MWe
(d) Itis constructed in Rajasthan

Sr&osido wendairgSss Son080d §od ,BS' D8 JaPose?
(a) @b 58 Bios* 88 F v SGIrEE” '

(b) 63D Sy SirE Gos" BT E

(c) &3 s Foggo 1000 MWe

(d) &2 CRPIS* AT

(1) a,d+ | @y a,b&ec
(3) c&d (4.) a,c &ds

-

63. Choose the writer who is not a recipient of Jnanpith Award?
(a) Viswanatha Satyanarayana
(b) Gurram Jashuva )
(¢) Bhalchandra Nemade ; .

(d) Raghuveer Choudhary .
(1) aonly (2) bonly
(3) a,candd (4) bandd

& (8od SIodS* SHE sy (s eI>G

(@) IHTE SEgToahen

(b) KHGo o

(c) erdSo 353

(d) Si0dE Two

(1) aSred L2 b Smed

(3) a,cdbasw d\c (4) bSsBos» dp
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64. Among the following, the persons awarded with “Sangitha Kalanidhi”.
a;) Avasarala Kanyakumari
b) - Sanjay Subrahmanyan
¢)  Aduri Gopalakrishna
d) Mangalampalli Balamuralikrishna
& 8ob TBs* Dohs g’ OTRSE 38),0050AITEH
1)  eStoe ETgSErd
b) Hozch Jopdyegs
c) e&r8 Aoy

d) HooAoDd wroSnsdEY
(1) a,b&cy (2) b,c&d
(3) ab&d : _Wa,c&d

65. Svetlana Alexievich is a/an
(1) Nobel Prize Winner "
(2) Politician '
(3) Olympic Gold Medalist
(4)~ Environmentalist
DT w8EdS a8
(1) 36 @& ere
(2) vaéo&ﬁé
(.3/)’ 2O0DE) HggHss DA

(4) BogS363s
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66. Match the following

67.

68.

(Authors) (Books)
(A) Nisid Hazari (T) Kshama
(B) Sunitha Jain (I) Harri Potter
(C) Kolakaluri Inak (III) Anantha Jeevanam
(D) IK.Rouling (IV) Mid night furis - The deadly legacy of Indian Partition
$od SHowdeoin &0 Sudod® 2dH8S0d
(A) 8 Ferd I s
(B) e a3 (ID)  SB>0s
€) Foford axf () esos d550
(D) 83. 30K (IV) D8I gt - & ad diid &% R0dHS >PAS

The correct answer is
PGS BIPGEIN

(1) A-TV,B-1,C-1II,D-II .~ (@2) A-ULB-ILC-IV,D-I®

(3) A-ILB-IV,C-lLD-J 4y A-LB-IV,C-1IL,D-1I
Choose the leader who has not participaied in the G-20, Hangzhou Summit - 2016
(1) David Cameroon (2) AngelaMarkel

(3) - Francoise Hollande (4) Vlddimir Putin

2016, G-20 HFofss'oSD Ipoif dSrBfod® FTID Fahd/Tabioed
(1) 328 s%ErS (2)  doBer 559,68

(3) @offond Hfeod ! 4) Ta6 383

Recipient of 2016 NTR National Sahitya Puraskar

(1) PadmaSuchdev (2) Jilani Bano
(3) MahaSwetha Devi (4) Anuradha Rai
2016 NTR ardos irdg 9o (@irs

(1) Sopsas (2) 2 =&
Q% $o5%388D . (4) edvgoro®



69.

70.

R A

72.
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In the 63" National Film Awards, the best director awardee

(1) Sanjay Lila Bhansali (2) S.S.Rajamouli

(3) Mahesh Bhatt (4) Ashutosh Gowarikar
6335 doHh SIS vTReS' G SHOD Vol Kird

(Ly Sozd der Fmd (2) SS. o=57®

(3) G S | (4) e98's KTess
The following was appointed as a Chairman/Chairperson of UPSC in September 2016
(1) Deepak Gupta : (2) Rajni Rajdan

(3) Subir Dutta . (4) AlkaSirohi

2016 Roabs* UPSC BE5S/BESGSM Johoodads o6

(1) 655 o (2) G=d &S

B :»bG Sa (4) ooy &>

The word ‘Produnova’ is aséociated with

(1) Football (2) Wrestling

(3) Tennis (4) Gymnastics
‘WS> 6 S0 & §od TPIE So20H0NSH

(1) ysers T K R

(3) 838 @) =578

The first State to ratify the GS.T. Bill

(1) Andhra Pradesh (2) Odisha
(3) Bihar (4) Assam
GS.T. Depid s3rbods &0 o@dn

(1) soSHas _ (2) =28
(3) bE 4y 30
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73. Match the following Olympic Medal Winners with their events

74.

List-1
(A) Usain Bolt
(B) Michael Phelps -
(C) Simone Biles
(D) Catherine Ibarguen

List-11
(I) Triple Jump
(I) Gymnastics
(III) Running
(IV) Swimming

& 80d 200D $85 DBSDH o0 BaroroHn 2858S0d

(A) &5 &g W\

(B) BS v&N

(C) 33 B

(D) 588 auds

The correct answer is

OGNS BE;TEB0

(1) A-ILB-IV,C-ILD-I
()~ A-LLB-IV,C-1,D-II

Match the following

(A) Fasal Bhima Yojana
(B) Atal Pension Yojana
(C) Suraksha Bhima Yojana

1) 98 205
M) 2538

(1) S JoBo
V) && Séden

(2) A-ILB-ILC-IV,D-IX
(4) A-LB-1V,C-III,D-IIy

(I) Pension for unorganised sector
(I) Rural electrification
(IIT) Farmers welfare

(D) Deendayal Upadhyaya Jyothi Yojana  (IV) Individual accident Insurance

& Bob TAD 2EHEBI0
(A) 358 bsr @ras
(B) &S IS dras
(C) oy S Brad

(I) o888 Joros* IS
(D) (rhosm dghssm
() Sgdrahorde Hogso

(D) 85 Eo0S edgrgaba'gd @rasy (IV) 35868 @i5rs dir

The correct answer is
HOGS BSrTESH
(1) A-IV,B-ILC-IILD-I*

: &;) A-NLB-LC-IV,D-II

(2) A-NLB-LC-I,D-1V
(4) A-L,B-II,C-IID-IVF
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76.

71.
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Prestigious Tyler Prize is associated with the field of
(1) Science and Technology ‘

(2) Defence

(3) Rural development

(4) Environmental protection '
POTEE Bobpé & Bob Sonds JoxofodIs
(1) = Sodcs» 0888 Jollo

(2) &8e Sodo

©) e w5

(4) BovgSbed HOSEe

The following person was appointed as the brand ambassador for Central Reserve Police
Force - :

(1) Sakshi Malik (2) JituRai

(3) PV.Sindhu . (4) DipaKarmakar
Do daby FOS F§) wros worddbm dohAodwdd Sg8 cRfS
(1) & 5-08 (2) 2éroeS

3y PV.Bog (4) b6 $o0y86

Choose the wrong statement regarding 6' Heart of Asia - Isthamble Process ministerial
conference.

- (1) Itwasheld in Amritsar

(2) Srilanka and Nepal participated in the conference
(3) It called for immediate elimination of terrorism
(4) Islamic republic of Afghanisthan is the permanent chair

65 555 65 shosr aFowd RO NIFPBHS IRV Dowodod $05 TEgH0d
AohE Dokod.

(1) ©3)836s* JggrosSnbod

(y/ Fook, IFrden & B FTHD

(3) d80d GEiTT) AEMPOoT el DY IYod

(4) 2YWE 6305 65 LLAVE B8 TS BEGES Sod
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.

80.

81.

82.
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UN Woman’s Advocate for Gender equality and Woman'’s Empowerment in India

(1) AiswaryaRai (2) Aiswarya Dhanush

(3) Priyanka Chopra (4) Susmitha Sen

TE8dosS* O0AISrISg SoBD Hirer JHSEES Howofod aéScrzsg D8 SoSrer
Sores .

Y ooy ood® : (2) o¥ug SH%
(3) @©oSros S | (4) BN DS
The International "f'iger 's day is observed on

(1) 21 July (2) 21* January
(3) 29 July (4) 29" January
wodT8ah Yoo 8F &S0

(1) 21 28 (2) 21 =338
3) 2923 - o (4) 29 =558 .

The complete liquor prohibition was imposed recently in the state of

(1) Gujarat (2) Telangana (3) Odisha (4) Bihar
addo Sogrg HoGguaGod JPodS c@o
(1) Hzcs (2) Boorer (3) =& @ b

The European Country which recently declared Economic Emergency is

(1) Switzerland (2) Britain

(3) France (4) Germany

addo 68 wEgSIE 56380 DB o8> B0

(1) dgoos (2) vus Gy @5 (4) =5

The aim of Pradhan Manthri Avas Yojana - Rural Gramin is to provide housing for all Rural
mass by

BES 20@ BIF Frud (LS @ng, HTF aBigo & voSddo TEE (rhrmoes
o0 agy) dHosrGdo
(1) 2024 (2) 2020 Q) 2022 4) 2021
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“Imagining India : Ideas for new century” book written by

(1) Narendra Modi (2) Natwar Singh

(3) Duvvuri Subbarao (4) Nandan Nilekani
“2Ar200R 208Sr-0B05rS 96 Sy Woisd” ol 8

(1) $Bogard ' (2) S5 Dok

(3) &o¥rgd TR (4) $088 JBED

‘Project Sunrise’ is a programme in North-Eastern India;\ states to eradicate

(1) Malaria : "(2) AIDS
(3) Polio (4) TB.
‘BSBE HEg0’ Sy rdS O‘@oé‘ & Jbrmpess egodndod
) Sdscsr (2) AIDS
(3) o8> . (4) &b

“Son of Saul” which won the best foreign language film in 88t Oscar awards belongs to
(1) Romania (2) Hungary
(3) Poland (4) Germany

885 wan§ oGS’ ¢gS I P DEor BTG el W5 6S ¥ Eod
BTE Boddd ' '

(1) &dosr i 2y :roﬁa
(3) %ol (4) 269

The Muslim country which provided the women the right to vote in local bodies elections
in December 2015 is

(1) Iran . (2) SaudiArabia

(3) Bangladesh (4) Turkey

2015 &owbs® FIE QS Solrdoss Lin TEY, $0y00% o Bdo
(1) =08 2V 8 wdoosr

(3) womd¥ - (4) &§,
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89.

lZ‘hASouth Asian games were organised in the following cities

(1) Cowhati, Kohima (2) Agartala, Shillong
(3) Agartala, Imphal : (4) Gowhati, Shillong
Bod SKorest 125 Sferdbair Bder dggirodwdTran

(1) T, S (2) oo, nerol
(3) wide, qodrd (j,)/ &8, herof

India’s Rank in world Happiness Index - 2016 is
36 HHDIS 203E) - 2016 & EBBEY o

(1) 138 (2) 18
(3) 128 (4) 108

Match the following countries with their manufactures’

(A) Agusta Westland helicopter (I) France
(B) Embraer Jet air craft (I1) Italy
(C) Bofors gun (1Il) Brazil
(D) Rafale Fighter Jet (IV) Swedan

& (808 Brod T8 a&Ros' 2836508

G-2 Booklet Code

(A) ofy 3[wrold wosRs I &9y

(B) do@Echs a8 Joxns P In =awd

(C) £35§ 89 : (1) @28

(D) o8 206 B8 (IV) g8

The correct answer is

HOGDE JBrTHEN

(1) A-T,B-III,C-I,D-1V (2) A-1IV,B-ILC-NILD-I
- (3) A-LB-ILC-UILD-IV (4) A-II,B-IILC-IV,D-I
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Match the following

(A) Ratan Watal () Chairman, Empowerment Committee on GST
(B) Amith Mitra (I) Chairman, TERI

(C) Ashok Chawla (IlI) Director, Sasastra Sima Bal

(D) ArchanaRamaSundram  (IV) Advisor, NITI Ayog
& 8o 8D 285808

(A) 885 568 (I) GST 556 €208 365

(B) eMs L@ () TERISSS

(C) &8 oa (TIT) :6%'@_6, DSrad gcsgs -

(D) @85S osdoddo (IV) 8 o@>f doSad

The correct answer is

SRS HIPTHI0 :

(1) A-ILB-NILC-I,D-IV - : &7 A-LB-ILC-IILD-IV
(3) A-1V,B-LC-II,D-III (4) A-NILB-ILC-1V,D-I

From the following, choose the correct statement as per 2011 census
(1) Bihar has highest density of population and lowest Human Development Index
(2) Kerala has highest decadal growth of population and highest literacy rate

(3) Punjab has high sex ratio and high Human Development Index

(4) Arunachal Pradesh has highest density of population with low literacy rate

2011 zorgr B0 ©5°60 §od F8S* JVGIG

w/ D6 w8308 adFo s H0on edguy SrdTPS)Y HrdEDH LA Hoiwod
(2) 38¢ SuY vdgls 2w $)P0L0 BN VEERE VDS Bendo 08 Hoindd
(3) Hozrew ©&E Do QB oL B{E IrITPHB Q8D SOA Hotwodp
(4) cherss HAT edgls adTodEd H0ain $895 BEoTRgE Bind EOA Solwod

These tribals live in the regions from Pir Panjal Range to Punjab plains

(1) Todas (2) Bodos

(3) Garos (4) Gujjars

58 Houd 858 FSB 08 Howrd POTTO K &F) Fosros’ ISHOB BdTVeD
(1) Sow Q) '@

(3) m&eoy ' By g

32-D
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93.

94.

9s.

Match the following

List-1 List- 11
(A) Dharmasala (I) West Bengal
(B) Siliguri (Il) Himachal Pradesh
(C) Dilwara : (1I1) Jammu & Kashmir
(D) Vaishno Devi (IV) Rajasthan
285650 |
A) e () 38 Bors
(B) %08 () rsrss S35
©) sergoM ) 230y & s85
(D) 3332 V) o=ys

The correct answer is |

SO HENTS S0

(1) A-HLB-IV,C-1],D-1 ¥ A-1L,B-1,C-1V,D-TII
(3) A-LB-I,C-UI,D-1V (4) A-IV,B-II,C-1,D-I

The stone tools foﬁnd at Attirampakam belongs to the following period.

(1) Old stone age (2) Middle stone age
(3) Neolithic (4) Historical
. ©8Tr0NERNS" oggHS 078 IS0 o 0B TS HowoBodSD
('1-)“ 3':5;00533({0 ' (2) Hgger oswifo
(3) 3% serosnio (4) o8 &%

The following Indus Site is situated on the banks of River Ravi

(1) Kalibangan (2) Harappa
(3) Chanhudar . . (4) Rupar

& §oB hod Tse EAESN b 36 BGKLS IOEHE
(1) &b noiS Q) o
Q) SKHes @) &6

33-D
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97.

98.

99.

100.

Ty
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The Vamna system of the people in the later Vedic period is discussed in the work stated
below '

(1) Rigvedic Purushasukta (2) Satapatha Brahmana

(3) Yajurveda (4) Hiranya Garbha Sukta

5038 Gy Preo Bwg, 5§ Sg5Y oo §od 6Y%) Koddns® SBoundss
(1) wxAsd oD Srgsn (2) #8358 Eriryso

(3)" oSoaBeessn | (4) rdeg AG) Srgsw

In propagating Dharma, Asoka used this script in writing his edicts.

(1) Devanagari (2) * Hindusthani (3) Brahmi (4) Magadhi
56} BE'So TS eIt 85 THSINOL Eod OHS* BonoB :
N8Pt FEN 2) Sobrd (3) ety (4) 5068

In the earlier centuries prior to Christian era Ajivaka sect is founded by the following

(1) AcharyaNagarjuna (2) PumaKasapa
(3) Ekanatha (4) Makkali Ghosala
5 oS0KY Swodk derepes wddsTps o §od 6 FHohd
(1) sy SrEs ' ‘ (2) g 88
(3) WG i @,)- 050 FOS )
The Ceylonese king contemporaneous with the Gupta ruler Samudra Gupta
(1) Kirti varma (2) Mahendravarma
(3) Meghavarma (4) Ravivarma
- K% S08cindS JdS0E DY D25 OKBS Do ¥ AEH o
(1) 8g 38 _ (2) o 3G,
(3) S 38 (4) 82 38
The writer who has stated that Ala-ud-din-khilji invaded Chittoor for queen Padmini
(1) Malik Muhammad Jeysi - (2) Feristha
(3) Barani (4) Isami .
serHES DY DS D SodcSrEh T I §'GE B WO SSond
(Y 5008 Sodrsns B (2) 2o

(3) =R (4) 2>
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102.
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Match the following:

(A) Battle of Banni Hatti () Raghunatha Nayaka
(B) Battle of Kanwa ' (II) Rana Pratap Singh
(C) Battle of Topur () AliyaRama Raya
(D) Battle of Haldighat . (IV) RanaSangram Singh
§0d AV 2EBSW S0 _

(A) 258 asgo (D) Edoag ol
(B) sty aingo (II) oo HeD Dok
©) ¥ awgo (IIl) e¥cH odoochHen
(D) &9 3§ asngo (IV) oer Soprss Dok
The correct answer is

BOGS HSrTS S0

@ (A)- M), (B)-(In), (C) - (111, (D) - (IV)
) (A)-(V),(B)-(1), (C)- (1), (D) - (111)
() (A)- (), (B) - (IV), (C) - (I), (D) - (II)
(4) (A)-(I), (B)- (1), (C)- (IV), (D) - (II)

The finest marble carvings in the Jain temple in India are situated at

(1) Gwalior (2) Kiradu
(3) Madhura : (4) Dilwara
L TEETESNS' fo ©8 WYY Food BHEY $nh o BT0HIN oW & Fok
(1) mgoasrs . (2) 8sa
(3) Sogs : @y doxs

103.

The military achievements of Pulakesi II are described in the following inscription
(1) Nagarjuna konda inscription :
(2) Badami inscription

~ (3) Aihole inscription

(4) Pattadakal inscription
Bodd Yo ¥ Ducire ot §08 FIS0s* Sgovagron
(1) orgs sod w650 .
(2) oo ed80
(3 2556 =550
(4) 54886 oo
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105.
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The first English man arrived at Surat in August, 1608, with a letter from James [, requesting
the Mughals for trade agreement

(1) William Hawkins ¥ (2) Thomas Roe

(3) RobertClive 4) Father Ridolfo Aquaviva

Bosts BSy HodS Bpd* 1608 srps' Inhwos T whonds Bggss’ 288

B0 s soficiudd

(1) D0cHS: 88 | (2) THS &%
(3) owf3s (4) Fssdash v5gdS
Match the following:

(A) Ramach_aritmnanas ‘ (I) Jayadev

(B) GitaGovindam : (II) Chaitanya
(C) AnandaBhashyam ' (1) Tulasidas
(D) SikshaAshtak ' (IV) Ramananda
Bod T 2&DG0B0

(A) o508 5035 (D) 2codHd:
(B) AsFdosS¥ N () BESSogHd
(C) sS08ardgs (1) Sodod
(D) @z oys (IV) odordodad
The correct answer is’ '

BOGS JSrEESR

(1) (A)-(D,(B)-<ID),(C) - (), (D) - (AV)
&y (A)- 1), (B)- (1), (C) - (1Y), (D) - (I
(3) (A)-(ID),(B)- (), (C)-(1), (D) - (V)
@) (A)-@V),(B)- (1D, (C)-(Im), D)- (D)

106.- Name the main factors responsible for the rise of Nationalism in India

(1) Commercialization of Agriculture (2) Spread of Western education

(3) Emergence of middle class (4) Failure of 1857 Revolt
E8BF0S* o S eDoYTIE TS Supy GoTOR Y Sodw
(1) Sgdaras ddedsde _ (2) msy dogTeR

3 Bo5585K8 930;3:;0 ' (4) 1857 8&%ihurtn ddod
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107. Who organized the Hindustan Socialist Republican Army
(1) VeerSavarkar
(2) Ram Manohar Lohia
(3) Chandra Sckhar Azad
(4) Subhas Chandra Bose

N irodryS #00F 85055 6by G, JorEBI
(1) d6>a>8,8
(2) o HSFEE oo
Br 60@3:;:6 wrs
(4) HprE So &%

108. The first Sepoy Mutiny that took place in India at the following place

(1) Visakhapatnam (2) Gorakhpur

(3) Raivellore (4) Meerut
TEEBFoS" i D>owe BhHEED oo '@oa (odoss* 2BASH
(1) deadLyo (2) Redys

(3) oolars 4y arsss

109. First Muslim President of Indian National Congress
(1) Muhammad AliJinnah '
~ (2). Maulana Abul Kalam Azad
(3) BadruddinTyabji
(4) ShaukatAli
68 28D FopS InBE SwHo BEgEE
(1) SEsnosd 2
(2) Fors vwd oD uexrb
() 2ogs e
(4) 288 b
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-

Match the following:

(A) EastIndia Association in London (I) M.Viraraghavachari, Anandacharyulu
(B) The Indian Association of Calcutta  (II) K_.T. Telang, Pheroze Shah Mehta

(C) Madras Mahajan Sabha () Dadabhai Nauroji

(D) Bombay Presidency Association (IV) Surendranath Benerjee, Anand Mohan Bose
§o8 TV REHEHBW _

(A) &9 mobosr FDEDAS, Lo () 25 dSopaTd, slSomardgen

(B) & modah’ wawchas, sosg () 3.8, Buoh, Y88 & e '

(C) S HoFtas J¢ : () ooerosh Jo'2
(D) oo (PRABY) VRIVEAS (IV) &Bodars B, vdol s &9
The correct answer is

HOGS BEPTEID

(1) (A)-(IV),(B)- (1), (C) - (10), (D) - (1)
2y (A)- (I, (B) - (IV), (C) - (D), (D) - (1)
(3) (A)-(),(B)- (1), (C) - (11, (D) - (V)
(4) (A)-(D,(B)-(V),(C)- (1), (D) - (1)

Find out the Secretary of Home Rule League in Andhra
(1) Gadicherla Hari Sarvothama Rao (2) Konda Venkatappayya

(3) Duggirala Gopala Krishna (4) Karanam Gunneswara Rao
oS P &S HR 78568y ISE Beyso ’ '
(1) masg 50 d&ggs oY (B Torr Jos8bdyolog

(3) &noe A'So5Y (4) &m0 HJHSTY

What was the significance of Ilbert Bill?

(1) Tocreate permanent racial distinctions between Indians and Europeans

(2) To remove restrictions on the Press

(3) Toreview the progress of Western education

(4) Toabolish the judicial privileges that were enjoyed by the Europeans in India
28 Do (Fopgd A0? :

4y wd&oﬁwoé& ‘$o8csn cird'hod3s ::3365 THE 28 T .o;goédéw
(2) o@&a » oo Solovdo

(3) Smdg 85 eaébga SArfoddo

@)~ EEBFoS' chrsDohdy edFIRT) vgoﬁwézbss SE o 88 Bobdsn
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113. Who pronounced the statement “If there is a sin in the world it is weakness, avoidall
weaknesses, weakness is sin, weakness is death”?
(1) RamaKirishna Paramhamsa (2) Swami Vivekananda
(3) Swami Dayananda Saraswathi (4) Bipin Chandra
“@doos® o eds IJT o8 ©8 welrSds, o)) polrides FolomHETod,
2OrE8 FO5D, wolrsd BEEHD” ISE HEYIH?
(1) oHEy 36HH0s . O > 285808
(3) gD SosrSos B8RS (4) D25 Sos

114. Find out the wrong pair
(1) AlHilal - Maulana Abul Kalam Azad
(2) Comrade - Maulana Muhammad Ali
(3) Sulabh Samachar - Kesava Chandra Sen
(4) Samachar Chandrika - Raja Ram Mohan Roy
o8 IS JBDS 2576 HEYHoS0
(1) sfred - Foa ed oo asxb
@ @b - o Hivrdnod
(3) Doy I5rTE - TES SogwS
(4) JIS>ras SoBE - o= THINSTS oD

115. Match the following

(A) AllIndiaKisan Sabha M 4915
(B) All India Women Conference (I 1936
(C) AllIndia Harijan Sangh my 1927
(D) All India Hindu Mahasabha (IV) 1932
$08 TIJ 2SBGHB0 e

(A) ©do 68 838 35 M 1915
(B) who rds Horer SCAEN (In 1936
(C) ©9é 588 ToasS Sofo (1 1927
(D) o 88 rodr S5t 5 (V) 1932

The correct answer is

DB JBrrSS0

(1) (A)-(ID), (B) - (IN), (C) - (1), (D) - (IV)

(2) (A)-(V),(B)- (1), (C)- (1), (D) - (IN)

() (A)-(In), (B) - (I1D), (C) - (IV), (D) - (1)

4 (A)-(D,(B)-(D), (C)- (1), (D) - (IV)
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Who were the founders of the Congress Socialist Party?

(A) Jawaharlal Nehru (B) C.Rajagopalachari
(C) AcharyaNarendra Dev (D) Jayaprakash Narayan
Sopn AROF 1§ Fsoen ISE?

(A) 285>8rd Jgo (B) &. ocaf'oad
(C) sdy Sos B3 (D) -uciPdsa Torafed
(1) -C&D (2) A&D (3) B&C A%) A&B
Name the founder of Round Table Society in 1906

(1) Lord Montague: (2) Lord Curzon

(3) Lionel Curtis : (4) Lord Lytton

1906 &* Tob Tend T8 :b'aééocb 258 '1351,.‘6)5»

(1) o§ Sro8R 2y o§ 8¢S

(3) ©hIS £ (4) of oS

The first Round Table Conference was not successful because

(1) The Muslim League did not accept its recommendations

(2) The HinduMaha Sabha was not happy with its reccommendations

(3) B.R. Ambedkar demanded separate electorates for depressed classes
(4) The Congress leaders did not participate in the conference

3068 Tob Bend B5rdTo IHODIITIE S0

(1) 3w20bF 63 dIEyos wohsdosEdsdo

(2) rod> Ho5e B by di 8o Sgio Vo Fddo

(3) D.86. ©oBEH,6 A%y ek HEgE I8 STes aTOIEo
(Y 3573908 SoBd Tobes FEIE FSEK0

The prominent leader who has not supported Subhash Chandra Bose in the election for
Presidentship of the Congress

(1) Mahatma Gandhi ' (2) Jawaharlal Nehru

(3) Motilal Nehru (4) 1.B.Kripalani -

SoBD &g IYES* WG ol SV $58880NS BN TNEE
O S8y mod T 2) 2556 oS g

3) Irdord JPv (4) 2.0 o
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120. Name the first education minister in indcpéndent India.

(1) Dr. B.R. Ambedkar (2) Maulana Abul Kalam Azad

(3) Dr. BabuRajendra Prasad - (4) Sardar Vallabhai Patel

SgBod T BEBIoS' HED ATgTPHBD HEY KB

(1) o D.68 wod)s 2y ST vwd fod exd

(3) @. wreo oBoB PIE (4) 36 Sozron SBS
121. Match the following

(A) Rukminidevi Arundale (I) Carnatic Music

(B) Raghupathi Venkaiah (I) Social Reformer

(C) M.S.Subba Lakshmi ' (II1) Bharata Natyam

(D) Savithribai Phule (IV) Film Industry

Bob TID WEBEHSD

(A) &8 8D wdodS () Sges Sofdo

(B) &&0d8 3osokg (I) &owE Ho 8

(C) 25.0%. oeoiY\V () FéSaeago

(D) &rd@uron JS (IV) Sodg JoFEs

The correct answer is :

HOGS PGS0

(D—TA) - (1), (B) - (IV), (C) - (1), (D) - (1)
(2) (A)-(D),(B)-(Im), (C)- (1), (D) - (V)
(3) (A)-(V),(B)-(II), (C)- (), (D) - (1)
X (A)- (D), (B) - (I, (C) - (IV), (D) - (ID)

122. The famous Sitar Artist Pandit Ravi Sankar was born in which city?

(1) Lucknow (2) Agra (3) Varanasi (4) Mysore

(.’J'.'og NES dTgodd D088 BD¥0EE 2 SKBoss* a&)&oa‘&?

(1) of) 2) s (B) &ewd | (@I
123. Which one of the fo.llowing books were not written by A.P.J. Abdul Kalam.

(1) India2020 (2) Scientist to President

(3) India, My Dream (4) Between the lines

& 80d fored® DB, v SorSd EoHEdd I8?

(1) =0dasr 2020 (2) 087 o @RR3oE

QY mobosr, B &% By &S 8 B
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124.

Match the following
List-1

(A) Isohel

(B) Isohyet
(C) Isoneph
(D) Isonif
283HWBN0
zda -1
(A) 28°>S
(B) o8&
(C) 2838
(D) a9

* The correct answer is

125.

BOSDY DIrTHSE0

(1) A-IV,B-IILC-I,D-I
3) A-ILB-IV,C-1II, D-1

G-2

List-11
(I) Equal rainfall
(1) Equal snowfall
(IIl) Equal sunshine

‘Booklet Code

(IV) Equal cloud cover

de -l

) s5rs SE>E0

() 5378 SrSdso
(L) B8 Jorsg63y

(V) 3508 Dosorsyso

(2) A-TILB-LC

-IV,D-1II

. (4) A-LB-II,C-ILD-IV

From the following, choose the correct statements ,
(A). Meridians of Longitudes are semi circles

(B) All meridians are not equal in length .
(C) The prime meridian divides the earth into North and South hemispheres
(D) The meridians help to determine the local time

Bo8 Fr8S* J05S Ty HBowBD

(A) BgroTen v oS amen

(B) o) dgroren 3508 D495 08 oD
(C) &S Bgrodsn grdod 4&5, &fer§ Aereom JRdyod
(D) dprowen FIE JBoErA) BNEITIE SIRrASEe o0

(1) A&B
Bx c&D

() B&C
(4) A&D
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126. The border states of Chhattisgarh are -1

(1) Telangana, Madhya Pradesh, Uttaranchal, Jharkhand, Odisha, Bihar, Andhra Pradesh
(2) Telangana, Madhya Pradesh, Jharkhand, Uttaranchal, Manipur, Assam, Andhra Pradesh

(3) Telangana, Maharashtra, Madhya Pradesh, Uttar Pradesh, Jharkhand, Odisha, Andhra
Pradesh

(4) Telangana, Maharashtra, Bihar, Odisha, West Bengal, Assam, Andhra Pradesh
SEDHE DY, JOTE oo |

(1) Boorrem, &g ©3E, agoodd, @'go& 2B, HHE, BoBIBET

(2) Boorwm, 2EHHDF, Srgod, Eooss, Sediys, e, SoSHBT
3 Buome, Doy, SoSgOAT, &303F, drgos, b, SOGDAT

(4)r Boores, Sodtog, 6, w8, SHD Bors, vdo, WoPPRT

127. The instrument used to measure high temperatures

(1) Pyrometer (2) Thermograph

(3) Thermometer ~ (4) Pedometer

©§ aPidod 58 Fddo

(1) &S (2) &5y . ¥

(3). &6 08 4y pEIrLE

128. Social forestry programme was launched in this Five Year Plan
Fira8 wEHeo DoB SEYERC & Do 3¢ HrPES' PEoDosnaID
(6 (2) 4 3) 3 4) 5

129. When itis 12:00 Noon in London, the local time in Amaravathi (80°E) is

085S Sagimo 12,00 foben BowSPE GSHTS8 (80°- &rdn)s’ FIS Sibabo
(1) 5:30AM @ s30PM
(3) 5:20AM (4) 520 PM
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130. Assertion (A): Mausynram gets highest rainfall in India
Reason (R) :  Mausynram is situated in the leeward side of Khasi, Garo and Jayanthia Hills
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A)and (R) are correct but (R) is not the correct explanation of (A)
(3) (A)1s correct but (R) is wrong
(4) (A)is wrong but (R) is correct :
PHSS50 (A): Srdlordo rEddFos” vdgls SEFrdo Fod |PFodo
$Ein (R) : Sod50d 63p g, 6 2000805 Fode 68 3655w BIS* wod
(1) (A) 506350 (R) dodo SOGHID So0osw (R) vods (A) 8 S080s D58
(J (A) 8052 (R) Bodor $05HSD 5 (R) €S8 (A) & H6GHS DS S
(3) (A) %6g®38 s°d (R) 85y
(4) (A) &3y 5°d (R) 05058

131, If a PIN number starts with 7, it does not cover the region

(1) Lakshadweep (2) Assam
(3) Odisha . (4) Andaman and Nicobar Islands
7 & Indodhy PIN Sopg & (Foads $owsd
(1) ogbHen : @y wdho
(3) 28 (4) ®o&5S HH8ckn s BHew
132. Match the following
Yolcano Location
(A) Katmai ' (I) Philippines
(B) Mayon (I) Equador
(C) Chimbarazo (III) India
(D) Invisible Reef (IV) Alaska
2EIEB0 '
) Sgdo \Zrodo
(A) sy (N ELENRY
(B) Soa@>rd (Il) &5o6
(C) Dowost (I =odcsr
(D) 2ad@wd 69 . (V) eoram,

The correct answer is
JOS JSrprdsn
03] A-IV,B-LC-IL,D-HI - (2) A-1V,B-IIILC-ILD-I
3) A-ILB-IV,.C-I,D-III 4 A-LB-ILC-UI,D-IV
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133. From the following, choose the correct pair

(1) Ghataprabha project - Karnataka ~ (2) Tista project - Uttar Pradesh
(3) Ramganga project - Gujarat (4) Bhakra Nangal project - Haryana
Bod o8& éb@os 285 MHgosod Q ‘
(1) DoLps @B - sonbs () &y @B - 038 HBF

(3) ool @af - bacd @Y pEdSofs \FES - TogT

134. Majority of carthquakes in India occur in this region

(1) IndoGangetic Belt (2) Peninsular Belt .
(3) Himalayan Belt (4) Lakshadweep Belt
rEETIoS* Froder &S HoEoB Foso -

(M Hor Dogh DS |@Fodo (2) Bgdgeysw

(3) rdroch BEE @rodse (4) ogbHho Proddw

135. Assertion (A) : Majority of the monsoon winds enter India through Palghat Pass
Reason (R)  : Palghat Pass is nearer to the Indian Ocean
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A)is correct but (R) is wrong ‘
(4) (A)is wrong but (R) is comrect
BIBIS0 (A): 20H1STe0 EYS o FOIrE EHH Hod RoddrS” HIA|ow
8'652;0 (R) : odrd 5§05 938 odr HIFIS0EI8 Som JI)6
Ly (A) $8050 (R) Sodor 0GRS Sobot;u (R) ©558 (A) § $25 D=
(2) (A) %0805 (R) Bodor 505053 50 (R) 588 (A) & £35 D56
(3) (A) 28053 (R') &3y
(4) (A) 83y 570 (R) 283058

45-D



G2 » | Booklet Code

136. The sequence of the rivers of East Coast from South to North

137.

138.

139.

(1) Cauvery, Pennar, Krishna, Godavari, Mahanadi

(2) Godavari, Krishna, Cauvery, Mahanadi, Pennar

(3) Cauvery, Pennar, Waigai, Mahanadi, Krishna

(4) Krishna, Godavari, Mahanadi, Cauvery, Waigai

Br&ay BE0S* KO, Sthe SHBERC (5500 %08 &EoIE)
(1) &30, &), 5, Modd, DS

2y Aorsd, R, 530, HTE6, DY)

(3) =38, ), 3/, DHEB, &7

(4) &3, Aosd, 56, $36, 30

Telugu Ganga project connects these two river systems
(1) Godavari and Krishna (2) Pennarand Cauvery
(3) Krishnaand Pennar (4) Mahanadi and Godavari
Beodd Kolf HEEo & Bodk $8& SgSgodd LeoPdod
B~ Forst $0os0 % (2) ) Hdasn 530
(3) ER Sobcs» W) (4) HH58 S0k F'osd
From the following, choose the correct statements related to Duduma Waterfalls.

(A) ItisonRiver Machkhand

(B) A hydro electric project was built on it.

(C) Itconnects the Damodar and Hooghly river systems

(D) Todas, an Adivasi tribe, live in its surroundings

Bod THS* HddSr 2o>a s Sonofod DOSSY

(A) 28 S°Spod b 8 God

(B) 83 D 2o d&gd Soo N80T

(C) a8 o3r8s Sodosn v 56 Sgdged Sangydod
(D) &'zreo o3 sdzdbed & H0J8 |Fosros® ISHRTDH

(1) B&C @)* A&B 3) A&D (4) B&D
These methods are encouraged by the Government to prevent soil erosion

(A) Reduce pressure on agriculture (B) Crop Rotation method

(C) Contour Bunding (D) Afforestation

585 ESEASrY) BOELTIE BebEte & DFSOLH @0

(A) Sgdraioo D 288 8hosdo (B) Sob 5r8)8 g6

(C) srotars zwodof (D) 388

(1) A&B (2)- B&C (3) A&D .(4) C&D
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140. This scale is used to measure the hardness of minerals

141.

142.

(1) Beaufort’s scale . (2) Moh’s scale

(3) Omari’s scale (4) Mercalli’s scale
pAre §058%H 80D e

(1) H>§) oo (2) b o
(3) 2&r8 e - (@) Doyd e

Bauxite is abundantly available in these districts of Andhra Pradesh
(1) Rayalaseema districts

(2) Prakasam and Nellore districts

(3) Vijayanagaram, Visakhapatnam and East Godavari districts
(4) West Godavari, Krishna and Guntur districts

soRATS* e PO E S oPod Beren

(1) ooHodbd Bernen

QY ®sdo H0as0 JoTH Bepww

(3) DucHIKbo, ITPde KON Srdy ATSE Bepeo

(4) 53 AoS0, §) S0 Hotrdd Beren

Match the following
(A) Mercury (I) Argentite
(B) Copper (II) Pyrolusite
(C) Silver (II) Cinnabar
(D) Manganese (TV) Malachite
2S5BS0

zde -1 =de -1l
(A) 28850 (I) 30885
(B) oa (D) poeds
(C) I8 () H&ers
(D) SroXdd\ (IV) Sredds
The correct answer is ' :

HOGOS SIS0
(1) A-II,B-IV,C-L,D-II’
(3) A-ILB-1,C-NLD-IV

- A-IV,B-IH,C-II, DI
(4) A-LB-I,C-HI,D-1V
47-D
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143. Mangrove forests are not found in this state

144.

145.

(1) West Bengal

(3) Andhra Pradesh
06 edHen 8D o@o
() S BomS
(3) wsoBHAT

(2)
4)

(2)
(4)

Booklet Code

Tamilnadu

Assam

SEITE

@0

From the following, choose the correct pair of Tiger Rescrves.and the states
(2) Gir-Assam ;
(4) Bhadra - Tamilnadu

Bobd TES* JOM 2SN Yoo JodEm ToGsw Sdn TEESR

(2) a6 - vmo

@y &8 - s2¥ado

(1) Buxa-Rajasthan
(3) Corbett - Uttarakhand

(1) =85 - o2
(3) 8688 - esdopod

Match the following
List-1

(A) Coffee

(B) Rubber

(C) Groundnut

(D) Tobacco

2858080

(A) =5

(B) =6

(C) J3&aS8N

(D) &mrs

The correct answer is

DO JIrF ISR

(1) A-LB-ILC-IILD-1IV
3) A-IV,B-IILC-II,D-I

List-11

() Legume
(I) Virginia
(TIT) Arabica
(IV) Latex

wde - 11

(1) 8rrgS
() S§acse
(1) esds
(IV) 88§

(2) A-I,B-LC-1V,D-III
4)"A-1LB-IV,C-1,D-1II
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146. From the following choose the wfong pairs

(a) Prawns - Blue Revolution (b)
(c) Meat-Red Revolution (d)
Bod TES* 8 adoH HYoFod

(@) Gobgen - Q0 dSo (b)
(c) Hrodo - vbhe JJSo (d)
(1) b&cy: (2r a&d (3)

147. The Head Quarters of North East Frontier Railways

(1) Maligaon (2) Dibrugarh (3)
STy W0 3T BES sogecho
(1) Sroms (2) opxris 3)

148. ‘HVIJ’ pipeline denotes

(1) Hyderabad, Vijayawada, Jaggayyapeta (2)
(3) Hazira, Vijaipur, Jagdishpur - (4)
‘HV) 2588 esm

(1) Tdoers, dachad, sfchgbts  (2)
(3) o, Dachys, 20685y6 (%

149. The Shershah Suri Marg connects

(1) Delhiand Baramullla (2)

(3) Delhiand Kolkata (4)

WX Brb Srgsn DB EenPHEod

(L) &9 28atn erovswer (2)
- (3) 88 Sobosw §SES . (4)

150. *Murra’ type of cattle belongs to

(1) Cows (2) Sheep (3)
‘S 8 HHHeo B8 Ho2080DSD
(1) sHheo _(9/ FRen (3)

49-D
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Eggs - Silver Revolution
Fish - Pink Revblutipn

Koy - Bod Do
dde0 - Hod dHdo

a&h (4) c&d
Bongaigaon (4) Dispur
rS‘oﬁn‘o By 83mE

Hubli, Vadodara, Jalandhar
Hazaribagh, Varanasi, Jabalpur

Jud), 58°68, 2oods
Srberfl, >8rh, 2086

Delhi and Amritsar
Delhi and Jaipur

39 B80S0 wSyFBE
39 Sodosn ByS

Goats (4) Buffalos

g (4) B3
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151. Residuary Powers of legislation are entrusted to

(1) Parliament (2) State Legislature
(3) Panchayati Raj Institutions (4) Co-Operative societies
©33) TITEToTw §od TS TS Bokod

(Jy &>gootn (2) og TS oy TR
(3) DHowondod Soywo (4) 3558 Jodren

152. The term ‘Political Party’ is mentioned in the Constitution by
(1) First Constitutional Amendment Act, 1951
(2) Forty Second Constitutional Amendment Act, 1976
(3) Forty Fourth Constitutional Amendment Act, 1978
(4) Fifty Second Constitutional Amendment Act, 1985
oubch »§ € JoR) Targorod DEYNS 358
(1) 088 orergol WY FYo, 1951
(2) SoB Bods orargor JSdew WYo, 1976
(3 SoB Tl oargoll S5 $égo, 1978
(4) o5 Bo&S Targoll 56 o, 1985

153. The Article that envisages Adult Suffrage in the efections is

~ (1) Article 324 (2) Article 19 (3) Article 326 (4) Article 51 (A)
AFec* SAras L8008 Honofodd @Edw
(1) ©€6 324 (2) ©85= 19 (3) ©fom 326 (4) @8 51(Q)

154. At present, the Election Commission of India consists of

(1) One Election Commissioner (2) Two Election Commissioners

(3) Three Election Commissioners (45: Four Election Commissioners

Bado wES IYto SoWos'd EWHIE |

(1) o8 fo EDDSE Q) agd s ENASER

() S0H% Qs SNBSS (4) Seniddd IS EXAIE
~155. The Union Public Service Commission (UPSC) annually places its report to

(1) The Parliament *(2) The President

(3) The Prime Minister (4 Union Home Minister

Bordcs HE ébséa EDAS (050.0.90.0) 85 08 J3BE0R 508 JHoByouw

(1) SgRotnso A o@sss

3) Herddoods - ) (4) Bo¥ Fowp H0B8

50-D -
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156.

157.

158.

Right to Information is,
(1) AFundamental Right
(3) A Directive Principle
Jdred PRy, wf

O @ens 8y,

(3) =3¢ drEgo

Match the following:

(A) Sukumar Sen

(B) Harilal J. Kania

(C) GV Mavalankar

(D) M.C.Setalvad

o8 AN BSHES0s:
(A) %516 DS B
(B) Hoerd B, sdckir \
(C) 2.2. 3r30086 ")
(D) o8, Bgeogs

G-2
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" (2) AFundamental Duty
(4) AnOrdinary Right

(2) @62E 28
(1) >To 8y,

(I)  First Chief Justice of India

(I) First Speaker of Lok Sabha

(IT) First Chief Election Commissioner
(TV) First Attorney General

(D) 3088 o8 PES TgohSarg
(D) 68 &*65e 086

() 3068 INso Bers ©§so
(V) 3088 oirb) 2586

The correct answer is / VOGS DS, ESw

4y A-NLB-L,C-1,D-1V
(3) A-ILB-1,C-IV,D-III

Match the following

(A) 7% Schedule

(B). 10t Schedule
(C) " 11" Schedule

(D) 12'% Schedule
$08 TIY 2EHES0d
(A) Q85 dorgen
(B) 635 drgen
(C) 388085 adrgen
(D) 53085 udorgen

(2) A-IL,B-II,C-IV,D-III
(4 A-NLB-I,C-IV,D-I

(I)  Anti Defection

an Powers of Panchayats

() Distribution of powers between Centre and States
(TV) Powers of Municipalities

(D 2§ voronoHho 'S0
(II) Jowrchde wdsoren
(111) 36@5-0'@0 NPy wRsTo Hobdd
(IV) Sod2ode wdsoen

The correct answer is / $8G38 d5rgrS50

(1) A-LB-ILC-I,D-IV
@y A-1IL,B-I,C-1[D-1V

(2) A-IV,B-IIL,C-II,D-I
(4) A-1LB-ULC-1V,D-1
51-D..
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For which committee of the Parliament, the Comptroller and Auditor General renders his
services?

(1) Public Estimates Committce (2) Public Accounts Committee

(3) Public Undertakings Committee (4) Parliamentary Committee on Privileges
S0l wob BALE 2866 FEMoLnS™ O D8 85 hisos osBRL?

(1) @ty vwosore doo : ('2)/@’)25365 greve dodo

(3) ©Babdg dor JoPe Jowo (4) ©8g8 TE e B FEIotd E8

Unemployment in India is due to the influence of

(1) Effective demand (2) Cyclical changes
(3) Deficiency of Capital (4) Effective Supply
F 830" GG GRS HrIS5N T woFsw
(1) g asrodd , (2) wPEHHES Srdyeo
Gy Swossy 58 (4) g8 3
Match the following ;

I . B
(A) Gross domestic Savings (2011) I 36.6%
(B) Gross Capital Formation (2011) - (I) 8.36%
(C) Rate of Unemployment (2004-05) . (1) 1.64%
(D) Rate of growth of Population (2001-11) V) 31.1%
2EIEBN _

[ _ Il
(A) dgo Bhod 6P (2011) C (D) 36.6%
(B) 3o Sreods Souchso (2011) (1) 8.36%

- (C) dnaghs Beo (2004-05) (1) 1.64%

(D) zaver dHEe Béo (2001-11) ; (Iv) 31.1%

The correct answer is
JODS JSrFIIw
(1,}/ A-IV, B-1, C-III, D-1I (2) A-IV,B-I,C-I1I,D-III

(3) A-LB-II,C-I, DIV . (4) A-IV,B-III, C-I, D-II
52-D
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Name the Economist who estlmated the value of Agncultural output before independence
in India

(1) Dadabai Nauroji and Findlay Shirras

(2) Dadabai Nauroji and D.R. Gadgil

(3) P.C.Mahalanobis and V.K.R.V. Rao

(4) R.P.Desaiand V.KR.V.Rao

PESBE AgBolegE PN SgITIré8 DendH wosar IvS BREISw
(1) orodd &2 Hown Hod [Ed

(2) oowrdd F&'2 58050 D.R. m™&s

Br PC HFoSa8 26w VKRV oo

(4) R.P.3wcSH SH0a50 VKRV oo

Percentage share of Agriculture in India’s National Income between 1950-51 and 2012-13 is
TEEBFos* 1950-51 Soboso 2012-13 :0056“)5'0 .“»dg 500’ 8cirmrahos® SgSan
Sofidn avdr PEsn

(1) 34.00-145 (a 459 - 139 (3) 247-157 (4) 565-13.6

One of the Reason(s) for Agricultural distress in India is
(a) Failure of Land Reforms
(b) Limited use of new Agricultural technology )

(¢) Adoption of cropping pattern
(d) More Financial Assistance by Union and State Governments

Correct Answer
(1) conly : (2) Botha&b
(3) donly (4) aonly

PEEBFoS* SgS;as Sok SoRp88 s'daé:.ooa

(a) & Joddme Sdogo

DX 8088 Sg5rahs FodBESH S0Ddom HBrAoHE:
(c) Hob 3r8y8 Z)géoo:éo 80380thHey

(d) Sog og Deheged ©dl 88 oo

J0S azrw
(1) c¢SrEgd .y a%ecsw b

(3) dSrgd (4) asmsd
' 53-D
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165. “Pani Panchayat’s” are recommended by
(1) National Commission on Panchayats
'(2) National Commission on Labourers
(3) National Commission on Famines

(4) National Commission on Farmers

“>8 Homonden” ©HHID §od Jogdd Jrdodwdaron
(1) 3258 §205 65 SoTond)

(2) 3535 LS ©5 Bwss

3y 36 EWUS 65 P2

(4) 3a5S KBS 65 PG

166. Match the following :
List-1 . ‘ List - I

(A) National Fertilisers Corporation of India @ 1960

(B) Food Corporation of India - (1) 1964

(C) Intensive Agricultural Districts Programme (1) 1961

(D) Agricultural prices support policy declaration (IV) 1965
2EHEHS80 _

(A) erdaD JES Doy () 1960
(B) 268 s*8 doy | (I) 1964
(©) 2o Sgirah zere SogESTe () 1961

(D) ssmage S o TS EE6S (IV) 1965
The correct answer is

2O ISrTIIR o
(JYA-I,B-II,C-III,D-IV (2) A-I,B-LC-II,D-1V
(3) A-ILB-IV,C-I,D-II (4) A-IV,B-NILC-LD-II

54-D
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168.

169.

170.
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Identify the name of the project conceived by A.P.J. Abdul Kalam

(1) PURA

(2) Samsad Adarsh Gram Yojana

(3) Dindayal Upadhya Adarsh Gram Yojana

(4) Grameen Kaushalya Yojana

& 8ob TIS" oS oro Koo HELor B ModS TR KGoSod

@/ S JEo

(2) %008 e85 o Arad
(3) B55SrE 6IT5oH wEd M Era
(4) oo Thog Sorad

Expand AERP

(1) Authorised Employment for the Rich Persons

(2) Assured Employment for the Rural Poor

(3)  Association for Eastern Regions and Provinces

(4) Authority for Entertainment of Rural Poor

AERP % 29088050

(1) ©E38E Joondots $6 8 65 56

O o3 JodonDols $6 8 ErsS &5 " -
(3)  ©AFVDAS 38 SRS 200y wob >IHS

(4) ©T88 55 JoLEBSR0E uH &r8S Fb

What is the Infant Mortality Rate in India during 2010?
2010 T8 erssdéos® 386 Sobare Bt Jod?

(1) 65 @ 47

3) 54 2. @ f3

How many Scheduled Banks are there in India iﬁ 20137
TESBEINS* 2013 HoSE 550 Qdrgg ergofoe Doy
(1) 160 | (2) 183
9)- 173 (4) 151

..A5-D
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171. Vishesh Krishi Upaj Yojana aims at promoting exports of following goods in 2004
(1) Fruits and Vegetables (2) Handicrafts
(3) Milkand Curd . (4) SeaFoods
2004 * & §0d INYO IHH8Y PEiroBoss r>obodd ‘098 g e>E
Qras” &9 SPo HEy I :
(1) Dok B0 ErEMoDdED 2 38 sgHe
(3) o oS WK (4) JS0E s STge

172. The value of Software and Service exports from India in 2012-13 is

2012-13 & 568538 Ko0b M5B ani IT FFIE 0% HbgRow g Jevd
(1) Rs. 3,69,696 crores

(2) Rs. 4,10,836 crores

(B Rs. 3,32,769 crores

(4) Rs. 4,45,846 crores-

173. Identify the first and second rank number of colleges with highest number in India, during
2010-11 as per H.R.D ministry of union government

(a) Andhra Pradesh , " (b) Maharashtra

(c) WestBengal (d) Uttar Pradesh

Fo BEHSs SrSS S3%0 H0@E; TH BEEEN FEEdTENS' 2010-11 & e8eE
serow fo oEged’ BES0, agdcd Farods' HFHD '

(a) woPPAT : (b) SodoG

(c) dHsH Borrd (d) &8s ST

The correct answer is

HBTHS HEPETHBD

(1) b&a (})/d&a ‘ ‘(‘3) c&b (4) d&c

174. As per India Development Report (2004-05) what percentage of Financial amounts is
allocated for the development of Technical Education, in 1992-93

88 S IJ6E (2004-05) Besn 1992-93 HodSsns* FotBE DSy eDIRE
Eironodd BPE AW TEZN | '
(1) 187 2). 7.01 (3) 2345 (4) 801

56-D
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176.

177.

178.
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Name the Chairman of experts group for estimating poverty in India in 2009
(1) S.P.Guptha (2) S.D.Tendulkar

(3) S.C.Guptha (4) VijaiTendulkar

2009 &* HE0E80 wodTre H0od JcHhIowwdS wlhFdwe )oY 398
(1) SP.3 (9/ S.D. Bo.dapbé'

(3) SChHh § (4) Ddudd Bodoeys

[dentify the lowest Urban Population States as per the 2011 cénsus

(1) Mizoram, Assam, Nagaland (2) Tripura, Manipur, Meghalaya
(3) Rajasthan, Jharkhand, Uttaranchal (4) Sikkim, Arunachal Pradesh, Mizoram

2011 zoer BH0 @edo vdge) Hhm aaw do TEros Kgotod

(1) DF'co, wdmo, Freros (2) 898, SoByPs, Dirodhd
@ Tays, drged, egoosd (4) 280, vSheTISHAT, &0
As a part of controlling inflation in India the Union Government adopted dual price policy

in the case of following good
(1) Petrol (2) Jute

(3) Sugar (4) Steel and Iron

rE83ES0E" GBS gaery) dahoBoBodhss Told ©Habéssn & SiP diehos® Eiods
o T vidooNd -

(1) 'S (2) =350

(3) B0 (Ba) Hosers C (4 a8y 0o @S

The following institution is meant for making suggestions to the Union and States in regard
to transfer and allocation of financial resources

(1) NITIAyog (2) Finance Commission

(3) National Development Council (4) National Commission on wages

& 508 Joy So¥ TFo ey E S3H0 289, Joddouk Jowodods vore B
ordden R0

(Y 98 e@»f (NITI Ayog) (2) D8 BHoso
(3) =dchH DB Hod s (4) =bcsH I8S Hopeswn

57-D
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[79. Mahatma Gandhi statement that “nature produces and provides enough for every body’s
needs but not for any body’s greed” is applicable in the case of
(1) Social Balance (2) Ecological Balance
(3) Economic Balance (4) Educational Balance
‘58 B8 u§ B ©IITESH PSS GHE B SDECHIRB, T PB 2§0 K0
83yoH8 (P88 &FIouB". mod2 1EYY) & HELS Bod woTIE 58308

(1) >drag Shdogd @y JogSde Idodogs

(3) @8 JSdodogd (4) Aoy SDodogs _ 1
180. Name the Act that designated the Governor General of India as also the Viceroy of India

(1) 1919 Act (2) Government of India Act, 1858

(3) 1909 Act (4) ” Government of India Act, 1935

W ESBE (GG 2S6SH rS8EE JF oD S HEBODS o

(1) 1919 s&o ' : (2) =88 B2y Sio, 1858

(3) 1909 $t0 ‘ By w68 Heoss Sio, 1935

. 181. The Father of Indian Penal Code . : :
' (1) RobertClive (2) LordRippon (3) LordCanning (4) LordMacaulay
w88 35 9408 DeriToud

(1) oof3s 2) of 855 () ofTE Gy of 5B
182. Match the following: :

(A) December 9, 1946 (I)  Adoption of the Constitution

(B) January 22, 1947 (I)  First meeting of the Constituent Assembly

(C) July 22, 1947 (IIN)  Adoption of objectives resolution

(D) November 26, 1949 (IV)  Adoption of National Flag

Bod 8D 2BEDGOB0: -

(A) &owb 9, 1946 4 (I) o=godo sdrdo Foddo

(B) =358 22, 1947 (ID) oargor 0GRS Inndd JSrddo

(C) =8 22,1947 () osge doydo sdrdo Foddo

(D) SSowb 26, 1949 (IV) =8cH Je5R) sardosdo

The correct answer is

BOGHI HIrEEI0 o

(1) A-II,B-IILC-IV,D-I (3 A-1L,B-1V,C-III,D-1

(3) A-LB-ILC-I,D-1Vy “(4) A-LB-IL,C-IV,D-II »

S§-D
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184.

185.

186.
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India is a secular state because

(1) TItisagainst God (2) Itisagainstreligion

(3) Itis an atheistic state - (4) It has no official religion
T88BF0 88 Trago JokSedod

(1) 3> 538085006 (2)  Herd) $58683508

(3) &} oago (4 6858 Sodo Bcbd

[dentify the correct statement -

(1) Indiahas Parliamentary Sovereignty

(2) India has Judicial Supremacy

(3) Indiahas Cabinet Supremacy

(4) Indiahas balanced Parliamentary Sovereignty and Judicial Supremacy

& 808 oAS* FBS argpgio HBoiod

(1) 2r88d%os® S5Joobdd FSETHé0 od

(2) rs8dfos* Ty THEg0 @od

(3) rE8B¥os* HoPHodd THEgo God

@y Pdeli Tt ToION ;’rgmobé DT SERE DdR Ty Ty THE'gAs gy SoFogs .
“od . ST . .

[dentify the wrong statement with regard to a bill meant for creating a new state

(1) Thebill requires previous sanction of the President for its introduction in the Parliament
(2) The bill must be first introduced in Rajya Sabha

(3) The bill requires simple majority in both the houses of Parliament

(4) The bill does not come under Atticle 368

w8 58 o‘@;&h qu Doda s aéao:ﬁaéé DeRs Dowofod IR .s‘stpgéo HBosod
(1) ogse .J'ds véaa’naé‘ Dendo :)'daaoé.nd‘ ©3FDEn0

2) Do o'a'.gtéejé"é 3»(.5&.) @3%":.)&.7'9

3) !)ooéo 8'63)06»6‘&) @k 3PS Fode W0 vsvo

Q)/Z)oon 98&6 36§ .Jb@é“_é oo

The following right is NOT found under Article 19 of the Indian Constitution

(1) Right to practice any profession = (2) Right to carry on any trade or business
(3) Right to form cooperative societies (4) Right to move out of the country

& Bod IS 88 TargofoSD 195 HESw S8RS'E oD T8y, ?

(1) 9 5)@3> B6Y 8y

(2) D TgFoJYs S TP/ FEFAB T8,

(3) 28 Sodrek oo Bohads 8y

4y drd) 560 33) 8o
‘ ‘ §9.p
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188.

189.

190.

G-2 Booklet Code |

The bonded labour (Abolition) Act, 1976 is related to

(1) Article 23 (2) Article 24

(3) Article 25 (4) Anicle 27

34 =80 (668) S&0 1976 638 Jowododia?

(M) @8 23 : % (2) BE6e 24

(3) ©s6w 25 (4) ©om 27

The writ that can be issued to direct a public official to perform his official duties
(1) Habeas Corpus (2) Mandamus

(3) Certiorari (4) Quo Warranto

a8 Pahd ©H5°0 &5 &S IHUH YBoSH sdsy Dadwd 8
(1) Zrdo®d s8R C 2y SrodBoR

(3) oRrsb . (4) & >dots*

According to Indian Constitution kinds of Emergencies are there
88 Targol PSS SERIVUREE [Tl DOZEFD.

(1 4 2 3 3) 5 4) 2
Identify the correct statement about Justice Hidayatullah

(A) He was an acting President of India

(B) He was the Chief Justice of Indian Supreme Court

(C) He wasthe Vice'Prcsidcm of India

(D) He was a Law Minister in the Union Cabinet

20 rEoher KBod I35 Tgpgd KHgosod

(A) s%8 eyd8 ogoem sdBes

(B) ©0%H8 88 Dwos'sy B TgohSrgm 5 3T
(C) soDs ods GHTFSEm SV

(D) ©cHs o8 SAIES* Tgohayp Do@m HBTH
(1) A&B (2) B&C
@Y AB&C (4) B,C&D
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191. The following is / are not voters in the Election of President of India
(A) Vice-president of India
(B) Elected Member of Jammu & Kashmir Legislative Assembly
(C) Elected Member of a State Legislative council
(D) Nominated member of Rajya Sabha

Bod ;S rCE T RRd ANES* LD ST ISL?
(A wC8 SB0EHS |

(B) msopshS Do sk JBS Sedg

(C) =8 oG DG JOASEE IYBS Beogdd

(D) oragdzits Sohotnds Sy

(1) AB&C (2) AC&D

(3) B,C&D (4) A,B,C&D

192. Prorogation of Parliament means
(1) Dissolution of Parliament by President -
(2) . Adjournment by the Chairman of the House
(3) Closing down the session for recess till the start of new session
(4) Suspension of debate in Parliament
FEDooti @K Hohdo woll, .
(1) o@Ese ot 68 Basdo
(2 3% vgghen HFH FoxT Sahdo
(3) ERS vSrITodh SwhoP H08 oF'Y drdTe S5 Jovdo algho
(4) FEDoES” TGS JRY0b Soddo

193. The President of India who also held the office of the Speaker of Lok Sabha was

(1) Fakruddin AliAhmed - . (2) V.V.Gin

(3) N.Sanjeeva Reddy (4) K.R.Narayanan
GBS 186 BEDR Srmr AYr oS EE TRDS ISK?

(1) 3558 sd erinb (2) 2.2.a8

(3Y7 5. Bods 03 (4) 3.8 SToHRS
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195.

196.

197.
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The original strength of Indian Supreme Court when it was inaugurated in 1950
(1) One Chief Justice and six other Judges

(2) One Chief Justice and eight other Judges

(3) One Chief Justice and thirty other Judges

(4) One Chief Justice and seven other Judges

1950 &* 88 oo E'EQ @BoPodSEyd TS Bopg weo

() 28 Bos Tgonirg, shH Sgehlorie

(2) 28 P@S Fgobdurg, VWG Dod Fgolhdurdyen

(3) =28 P&d Tgohdrg, S0 =) od argodurdyen

(4) o8 PTS THeDITE, D FTgoSarien

The Indian Supreme Court exercises advisory jurisdiction under the Article?

68 DPo §'E Targoros'd O D880 wHd0od Sl ErdE S04 EOA @ob?.

0y 143 (2) 136 (3) 131 (4) 132

As mentioned in the Constitution of India identify the correct statement
(1) President has discretionary powers

(2) Governor of a state has discretionary powers

(3) Both, the President and Governor have discretionary powers

(4) Both the President and Governor have no discretionary powers
88 orergomy) Bddo, :)_'Qé a*ssps:éo Hogosod

(1) oEees o8 wosTe §0d |
(2) O‘@ f56)680 DUEe wdsoren §oé)
QY oG8, £56)5 aged Juge ©HETe $oP)
(4) o'@.:a 8565 agaé Ddéea vesTeD Godd)

A second chamber in the State Leglslature can be created through

(1) By Constitution Amendment

(2) By an Actof Parliament on the basis of a‘resolution made by the State Assembly
(3) Presidential Order "

(4) Order of a Governor with the consent of the President

c'@ TOS o a*xpes‘ Bo&* JdFH aor .)c'.)w BodoHegy

(1) =¥ ovargodd B55608"

Q-G vwod TS domySo wErdort ndrods gm0l S08*

(3) ogoe aédasoé‘ ;

(4) TEHe DR SrdcdS zs;scgls & gdgs'

62-D
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The Judges of High Court
(1) Canbe transferred from one High Court to another

"(2) Cannot be transferred

(3) Canbe dismissed by the Governor

(4) Canberemoved by the State Legislature

TEE Tgohdarden

(l)/z..é TEE S0 DTE ERL eaéb BoRowd S
(2) 268 BoHa D8 dew B

(3) g 1566 B8 Sonouduy

4) o-@ TIS oy T oo SOhoDSWY

The provisions of Part [V relating to Directive Principles of State Policy are not applicable to
(1) Jammuand Kashmir |

(2) Assamand Meghalaya

(3) Odisha and West Bengal

(4) Kamataka and Goa

TES o' wd¥ S éouo@oaé QuoFden Bod 38 B8 590‘5@9

( ) adory-5°8)8

(2) B0, WITrOOH

(3) =béa, 7% Bord

(4) sonwg, Aa

The Constitution (73" Amendment) A¢t, 1992 provides,

(1) aconstitutional status to the Panchayati Raj institutions
(2) aconstitutional status to the Muncipalities

(3) a constitutional status to the Cooperative Sometlcs

(4) aspecial status to the UnionTerritory of Delhi
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